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. tan(x + ) — tan(7 — x) = 2 tanx

T 1 —tan 6

.tan<7—6)=;
4 1+ tan 6

. sin(x + y) + sin(x —y) = 2sinxcosy
. cos(x + y) + cos(x — y) = 2 cos xcos y
. cos(x + y) cos(x — y) = cos®>x — sin?y
. sin(x + y) sin(x — y) = sin®x — sin®y
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In Exercises 39-42, find the exact value of the
trigonometric function given that

sinu =725, wherenf2<u<m
cosv = 4[5, where3m2 <v < 2m.

39. cos(u + v) 40. sin(u + v)
41. sin(v — u) 42. cos(u — v)

In Exercises 43-50, verify the identity.

43. cos(m — 6) + sin(g + 6) =0

44. sin(6 + m + cos(f) — ‘g) =0





 


 


 


 


 


 


 




             

